PART IIB 2011 4C9 CONTINUUM MECHANICS
Prof V Deshpande
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A popuiar questi(_)n, well-answered by most candidates. The main part the candidates found
difficult was part (c) where they had to show invariance under rotations.
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On the whole the qﬁestion was poorly attempted. A number of students found it hard to
calcuiate the moment by force equilibrium and also to use superposition in part (c).
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The least populér questiongbut on the whole well answered. Students managed to employed
the yield criterion correctly but found it hard to calculate the plastic hardening rates.
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